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SSC CHSL (10+2)

®* We have 16 columns and 18 rows of students in a playground and the distance

between two students is 1.5 m. The length of the row of students 1s-
* THN U9 Ush @l o HeM U BT o 16 &9 3T 18 Gihai € 3T a1 S o o= )
3 1.5 HIET 31 BT AT Ul hl TS 8-

A.20.5 "I
B.22.5 HleX
C.22 "I

D.25.5 "I




SSC CHSL (10+2)

® Statement:

* Some dogs are bulls./%® gha SO

* All bulls are donkeys./a¥T ERRIEE]
* Conclusion:

* 1. All dogs are donkeys./@¥l @'%W‘QT%I
® II. Some donkeys are dogs./$® W‘a;ﬁél




SSC CHSL (10+2)

® Statement:

 All mice are cats./G¥! ‘i;%a ISR

. . N o X
* Some cats are not dogs./%s T, b Tl 2l

®* Conclusion:

* I. Some dogs are not rats./$® ghr\l, tlc\% Tl 2l

\

® II. Some dogs are rats./$® ghr\l, % gl

N




SSC CHSL (10+2) 2022

® In a code language, ROBIN 1s written as TRFNT. How will PETER be written

in that language?

* T e AT H, ROBIN 3! TRENT o &9 H T SITdT 21 36 AT § PETER I
forg gerte formT SR

A RHXJX
B. RHVKX
C. SHYJZ
D. RGXJW




SSC CHSL (10+2) 2022

* Identify the missing part of the given figure and select 1t from given answer

figures.

T [T ol TEETHT ST & 718 IR STehical H H SHeRT =3

o
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s
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Pey
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6o

Question Figure Answer Figures

mmi@le—-(b) () (@




~ 8SC CHSL (10+2) 2022

* Find out the alternative figure which contains figure (X) as 1ts part.

* IE dehfcUeh TSI FT i ST T | 3TTh(d (X) 2l
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L A

iy

A WLy
X/




~ §SC CHSL (10+2) 2022

® Choose the alternatives which 1s closely resembles the mirror image of the

given combination.

~

o faU 7T G it <901 B o G fewH a1 faehedt st =[]
O

Question Figure Answer Figure

L) (NI

@ () (c)  g—(e)




SSC CHSL (10+2)

* Select the option that shows the correct order of the given words. as they would

appear 1n an English dictionary.

* 3G foehcd hT T ol ST U 1T SToc] o U= shH ST 21TdT &l SidT foh o Ueh =i

STsaehIeT H fa@rs <)

® ]1.Assertive

* 2.Astringent

A. 4,5 1,23
* 3.Astronomy

B.4,2,1,3,5
* 4. Aspirations C.5.4,1,2.3

® 5.Ascertain D.3,4,1,2,5



SSC CHSL (10+2)

®* Which two signs should be interchanged to make the following equation

correct?
o [TTRad IHIRTOT hl U&T i o ToTU Tord & Tl vl 31199 U SieaiT I1eu?
®18-12-4+8%x2=5

A, -3~
B. -+ 3 x
C. + 3T -

D.+ 3R+




SSC CHSL (10+2)

® Three friends Aman, Ishaan and Anish have 12, 16 and 3 apples respectively. If

Aman gives twice the number of apples to Ishaan and 4 apples to Anish, then
how many apples are left with Aman?

o I SIEAT THA, SIM ST T o I ShAT: 12, 16 37X 3 O 8| AT 310, AT 8
TE Hell shl ST T GITTHT ST ol S I 1 4 Ul ST ©, T STHA b U160 Tohe
e o 87

A.5
B.3
C.2

D.4




SSC CHSL (10+2)

* Select the combination of letters which when sequentially placed at the gaps in

the given letter series will complete the series.

* 37T o I GATST hT T ShITSTU 1918 &1 T8 37T ZRGAT oh ich T | shitish &9 U

T I T i 2l S|
®*ac da dda dac d

A.daccd
B.acdca
C.ccdad
D.dccdd



SSC CHSL (10+2)

® An eagle starts flying from its nest and flies 1 km east, then turns north and flies

2 km, then turns west and flies 7 km and finally turns to its left and flies 2 km.
Is. Where 1s he now 1n relation to his nest?

* Teh =iicT 31U = € ISHT & hdT & SN 1 TohHT Iof 7 Il &, Tt ST H qedl 8

31X 2 ot 32T =, TR T2 H Teell 8 3 7 fopHl 32dT & ST Sed: 319 a5 3N
TSl § 3 2 forHt ST 21 319 98 U Hieie] o Heftl H el &2

A.8 km west
B. 6 km west
C. 6 km ecast
D. 8 km east




SSC CHSL (10+2)

®* Mayank remembers that the exam is after 18th December but before 21st

December, while Suraj remembers that the exam is before 24th December but
after 19th December. On which date of December 1s the exam?

® Hih ol TS & foh TLIET 18 TaeI o o71a &, Hioh 21 feHe & U8 ©, Sfelieh ¥ !
I1e © o afteqr 24 foder @ ygel @ AAfer 19 foger & a1e 21 gdie fedsr i forg

fafarsr 22

A.20
B.21
C.19
D.22




SSC CHSL (10+2)

* Four number pairs are given, out of which three are alike in some way and one
1s different. Select the number pair which 1s different from the others.

* T AT T (4T T &, IS8 | T Tohell TohR & Ueh @91 © ST Teh (=1 © | 34

T T 1 T hITS S 3§ 9= 2

A. 198 : 981
B.132: 321
C.246 : 426
D.954 : 549



SSC CHSL (10+2)

® In a family, B 1s the father of K. B has only two children. K 1s the brother of R.
R 1s the daughter of P. A 1s the grand daughter of P. S 1s the father of A. How 1s

S related to K?

* T URER ¥, B, K T fUdT 81 B o hact al a=dl &l K, R 1 978 &1 R, P 31 T 21 A,
PHITE STl S, A o1 fudr 81 S, K & fore YehR Heifera &2

A G-39-d1
B. Sl
C. SIaL-3-]

D. TS




SSC CHSL (10+2)

® Priyansh, the only son of Rajat, says to Prakash, "Your mother, Veena is the
elder sister of my father who is the only son of Krishna." How is Rajat related

to Prakash?

e TSRITST, ST TST ST Sehalal O &, SoRTRT § hadT @, TR A, ST 5 fudT oht 51t

& & S ST 3T Sehal T 9 &1 " T5I, JehTeT § fordl SohR Heiferd 87

A.Maternal uncle
B. Cousin

C. Father
D.Uncle




SSC CHSL (10+2)

* Select the option that is related to the third term in the same way as the second

term 1s related to the first term.

* 3Y fofehed =T =T SAIfSI ST 16l Ue § SHT TehT Heiferd 8 SiH g0l Ue 8l U &
Geiferd R

* SACRED : VXEPIZ :: WINTER : ?

A.ZPFIRN
B. ZFPRIN
C. TPLIRS
D. TLPIRS




SSC CHSL (10+2)

* Arrange the following words 1n a logical and meaningful order.

o ffoTftad reat <Al drfeher 3T TTYh shH U S [%fd h

* 1. Result/9i{umd
® 2. Publicity/S=TC

* 3. Swearing in/IM9Y AT
* 4. Enrollment/aTHIehd

® 5. Voting/Hdald

g

A.4,5,2,1,3
B.5,4,2,1,3
C.4,2,5,1,3
D.5,2,4,1,3



